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EX: oFE T Al D}
M 0o OFE MEBDE
Chel: Plurel ofgr 23 (sl &2)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
Al 157
- 158
=20IEN 2IeRo &4 =HAEH| 1,900 1,900 0
= 570
Al 665
- 665
201 gEt24y| 1,900 1,900 0
= 570
Al 665
- 665
01 AP 22| H| 1,900 1,900 0]
Oolgto & & A 1,900,000 1,900
= 570
Al 665
- 665
OISt st SHEH B3 4,200 4,200 0
= 1,260
Al 1,470
- 1,470
405 KHoHFE S HI 4,200 4,200 0
= 1,260
Al 1,470
- 1,470
01 JHAHE 2 E 5 S H 4,200 4,200 0
O0ISAHS e gt=H B3 4,200,000 4,200
= 1,260
Al 1,470
- 1,470
AOIH 2IERns 29 6,600 6,600 0
201 et 6,600 6,600 0]
01 AFR 2t 2| bl 6,600 6,600 0
OAMOIH QB2 E &9 6,600,000& » 14! 6,600
HAESHAY (Ot T Al 1,783,924 1,803,316 A 19,392
ol 2| 1,674,293 1,695,355 N21,062
=X 22d E2AY| 117,158 115,153 2,005
101 124 4| 117,158 115,153 2,005
03 2IHALZZHE = 117,158 115,153 2,005
O=sA&eld 117,158
ollgaz 3,225,380 x2H x12& 77,410
odIAMNHZ 1,871,200 2% x50%* 13| 1,872
S-S 960
NELS (R 40,000 x1H «12& 480
s (ELD - 1Y)
20,0008 x2H x12& 480




SN OETAD
M HHSHAH (HETAD
chel: ol gyl CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
o=l =4l 8,329
FAHZ A 130,000& »2H 128 3,120
HE F Ot 3,255,380 »2H x40%*23] 5,209
ocxUZEFE 14,594
Azt Z2e+%
24,4283 «BAI 2t+2H x 12 4,691
SL2RE 97,7103 x22 »2H <123 4,691
SRssit=< 130,280& 2% 20 5,212
SERNE=PNE == 13,059
- DUASEESEE=  103,880,2883 *4.5% 4,675
- DAL BEHRES
103,880,288& *3.23% 3,356
- NEEERYEZ 103,880,288% *1.5% 1,559
MANEEREZ 103,880,2882 *3. 1% 3,221
LI RABERE S
3,356,000& *7.38% 248
ocLsXENMEUS 50,0003 x2& *13] 100
o CHE &AL 50,000& x2H 13| 100
oIl =l 734
A= (o, 52) 110,000& »2H 220
et = 200,000& »x2H 400
OrMSH( &S} 40,0003 »x2H 80
2 Xt 7,000& x2H 14
&35t 10,000& »2H 20
EZ2EHR A2 1,557,135 1,580,202 A 23,067
101 14 Hl 1,557,135 1,580,202 A 23,067
03 RIAHAZZ N+ 1,557,135 1,580,202 A 23,067
OkzE=x¥ 1,557,135
S 3,478,420& x18H x 123 751,339
oca0iz 68,305
HE SOt 3,478,420& x80%* 18H 50,090
A3 2,023,870& x50%* 18H 18,215
ocZ¥yAUxg 14,880
HEL (R 40,0003 x16H 128 7,680
s (22 - 4H)
20,0003 308 «12& 7,200
o=l =4l 28,080
FAHZ A 130,000& = 18H »12& 28,080
ocx2ZR+Y 151,677
ANt 22+
26,0503 *10Al 2+ x18H «12& 56,268
Ort22 =% 8,680&+4AI2H+18H 122 7,500
S22 104, 1902 18 20 37,509
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M AT AL
Y HER2GFHI(HE T Al
& o 2d|
SA BB O () - MM - HES 0l &+ o4 il
AxReESsItsE 140,000 » 18 20 50,400
ocXtHAEHIEX+Y 7,493
- NSshM 468,300 x4H x43| 7,493
ocligtd stz XN 300,000& x5H «13] 1,500
oANEXNRYES 127,481
- Ipeiavssgs
1,014,279,000& x4 .5% 45,643
SUALEEREZ
) 1,014,279,000& *3.23% 32,762
NEEEREZ 1,014,279,000& *1.5% 15,215
MIHEERYEZ 1,014,279,000& *3. 1% 31,443
CoEI YT RYE
32,762,000 *7.38% 2,418
o CHE & AL 50,0002 x18Y 13| 900
ocLSXEMEUSE 50,000& x18H * 13| 900
CcZUEEAR AeAZ 2,000,000 »x2H 4,000
o Il =l 4,150
A= (5t 55) 110,000& x5 550
get=s 200,000 x18H 3,600
ocFUEERZF 196,265,000& »2H 392,530
cLEN S BY - OFNG S
325,000& x12& 3,900
Jl234l 109,631 107,961
2AMII=2Zl 109,631 107,961
201 L-2E| 15,621 15,621
01 At 2t 2l 15,621 15,621
ORM2Y JlE2+8H| 279,000 »27H 7,533
OUEBRAESZ (BT AI=HA) 50,0008 128 600
OJl2gesd =S4l 8,0002 34«26 128 7,488
202 oddl 84,240 84,240
01 = LH o4 bl 84,240 84,240
OJl2ge=8 ol 260,000& x27H x12& 84,240
203 R F=&H| 8,100 8,100
01 J22F PR =8| 3,300 3,300
OEEXZZAN=ZE 3,300,000& 3,300
04 EAN2IHRF=EHI 4,800 4,800
ORNMEERZY 400,000& =122 4,800
405 TtHabH S| 1,670 0
01 AL EFH S 1,670 0
O=2&4 HAyWH 800,000 » 14! 800
OX& O XAl
(200, 000& =30 )+(270,000& =174 ) 870
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EX: oFE T Al D}
N2 SES(HE T AID)
CHe SEHeHX = (2 &HH)
- _ _ RE]
M- B (B H) - NSAY - B Ol At o %@ﬁ HRE2
THEE S (CHE T AL 216,297 202,541 13,756
WEAHA XK= 216,297 202,541 13,756
Mer2te| 2 &8 216,297 202,541 13,756
702 1282 216,297 202,541 13,756
MoIsdE2 216,297 202,541 13,756
OMt2e 22 =2
216,297

64,889,089,340% «1/3%1/100




